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ELECTRICAL CIRCUIT THEORY

Fratfi waa AR e | | [SrfErRas 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70
Mz (i) FEEwEE dHEHE B, sy o @ el aier & SR R |
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) T T & T S ] A T A & T |
Solve all parts of a question consecutivelv together.
(iii) TeA% 9 B 74 g5 § AR T |
Start each question on a fresh page.
(v) @ e o e gia @ e 7 st HETE A E |

Only English version is valid in case of difference in both the languages.

L () Yo ud sned e S SeErT Hied wHeEd |
Explain Linear and Non-Linear parameters with examples.
(it) Tirerd= o1y fafed |
State Millman’s theorem.
(ifi) =rErEieraT st afeATi i |
Define selectivity.
(iv) TR 7T UHg i THeEd |
Explain Initial value theorem.
(v) Y’ el s ufeiea s |
Define ‘Y’ parameters. (2%5)
P.T.O.
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(i)  STETOU YHE T e felgd a0 38 geiia s |
Write the statement of superposition theorem and verity it.

(i) T & T T wRaw o Are faveiver fafr w7 @R w0 g0 5 Q % WieRiY 3 °R1 S A

2

A HIE |
Using Node Analysis method find current through 5 Q resistance given in the.
circuit, (6+6)
20 20 5Q '
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[—=
+ -
16 V= 2Q ' 2A

| |
1

3. (i) AT WRE N R g 10 Q % afy § 4R S 7 w0 i |

Find the current through 10 Q resistance using Norton’s theorem.
5L 20

-

100A (D) ZOQ§ 11210Q %19 %m

(i) Teream % fg T |
Explain Kirchhoff’s laws. (6+6)
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4. () Tem T oitey o A et § Q factor TH S TSR WA BN |
“For the circuit shown determine the Q factor and Bandwidth at resonance.
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(i) < AR F ST A Prewrer 1 93w Hi |
Establish formula of resonant frequency for a tank circuit. (6+6)
Il
I
—JXc
AN W
R IXL
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\%

(i1)

()

(i1)

=T T AT E=R0T ST ST

Find Laplace transformation of the following :

(@) fl)=t2-6t+7

(b) f{t)y=t-cost

=1 7 ST AT SR S B

Determine Inverse Laplace transformation of the following :

2
@ FO-GThaes

§—5
(b) F(s)= s+ 22 (3x2, 3x2)
FTT T RS 77 75T IO |

Explain final & initial value theorem.

R et I A g uRey § 9w i(t) 1 0 ST SR |

Assuming initial condition zero find out current i(t) in the circuit. (6+6)
50 1H
MWWA— T
3 i(t)
v = §e—2L ' =05
W="5¢ /\j - 0:25 F
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7. () oz wesl ® Y wee 5 aiafed s |

Convert Z parameters of a two port network into Y parameters.

(i) T T aRwy B Y -9 T i

Find Y-parameters of the circuit shown. (6+6)

30
. AW

20 1Q

T ST W 3 i Sl diet-siRy et s arenEd |

Explain the concept of complex frequency poles and zeros of a network function.
T I el BT Qe-STRT ST ST 2T 9RT i(t) ST =T 9 hird |

Plot pole-zero diagram of the following network function and determine current

i(t).

20s

I(s) = m (6+6)
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